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-Les téléphenes portab!es ne sont pas autorisés en
salle
Etant donns que toute flche mal codée oy non codée
serg refetée par un systéme élecironique de lecture,
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REMPLISSAGE DES CASES DE REPONSES : FILLING N THE RIGHT ANSWEQS

En remplissant {a case de réponse de votre choiy, prenez soin de bien fermer le cercie.
In feeling in your answer make sure the cfm‘e Is completely cavered .
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" 1 A W SRNRL TEST PSYCHOTECHNIQUE! APTITUDE TEST
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26 475U SuwvtduslescondogrSinto | g
« b é el W G0, noo 1. 'fthe given letters are represented by the numerals befow them, Si les lettres suivantes sont
A 248 &I 5N l représentées par les chiffres ci-dessous,
: RTSUVABCDE g _
. 8§ 5206791 34 _ $/ .
} ‘ Tren/Alors 408927 =7 . (A) EURSBA {B) ESRBSA ()} EURBSA (D) ESRBAS
Y . - @ :-\‘, w P ) . i .
\ : i 4 \JQ--A"&&“; 0. AR {; 2.The last day of a month is Saturday, Which of the following days could oceur five times in the
i v * \}i"’ﬁ‘?\ f& \ Kop ~ month?/ Sile demier jour du mois est Samedi*lesquels de Jours suivants sera représentés cing  ~ -
& W N =z )

- £ L " TN J : / fois au cours de ce mois? . /
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3. P Is the grandchild of Q, S is the'wife of R. Which of the following informations would help to
infer that § is the aunt of P? / 57 P estlfa petit fils de Q, et S est I'épouse de R, Lesquelles des
informations suivantes peut nous permettre d'interférer que § est Ia tante de P? :
(A) Qis the father of R/ Q est le pérd de R

= h@j o +/(B) Ris the son-in-law.of Q /R est e beau-fils de Q

b e : - {C) Ris the brother of P's father /R es le frére du Pére de P

i e & K (D)2isthe daughter of Q' daughter /1P est fa petite fille de Q
. S

. go i n B 1
i 4. The words are dfranged In some order, Which sequence follows a rule?
= Lesquels des mots suivants suivent un ordre®établi? ; :
" .+ (A) Blue, red, violet, green ! Bleu, rouge, viofet, vert
(B) Sreen, violet, red, biue / Vert, violét, rouge bleu s T
* (C) Red, blue, green, violet / Rouge, bleu, vert, violet -
a ' (D) violet, red, blue, green / Violet, rnge, bleu, vert

=

. 5. Fitin the missing number in the arrahgemc—nt. They are arranged on the basis of a principle:
@ * /Quel est fe chiffre manquant? f b S S
579 X8 K€ XKy
964 e L BC
36 367 g | ARG

; ' & . 5 ’ {a) 40 @32 {c) 36 QF (d) 42 'ﬁé; ({-‘_}l 2/

Directions: In each of the fallowing quesftions. one term is different. Find sut the different term./
Danschacune de questions suivantes, il y a un chiffre différent. Lequel? = .~

i il NS ) 3 N ) R
| : y 6.(3_1?63?\\_«’:5.}{())121{,@1)1 © 1691“??, (D197 ey 14a 1y 2 s ]
7{ g A o T (a,xg;r'\/f’w (b) 61 {c) 122 [ (d)509 e) 213 e
R O O, 15" = 8. (a} 10 )17 7w (c)i24 A3y, (e) 504 -
R P I el : 2t tan i T . o
2 oI M R (1T MY (10~ ()21 (e) 25
g ) R g LR . U e ras R 5 B L sk i U
Fu A B r b T SHABAS T  thyos ©) 37 o NAdyB4T BE0-L HGR AT TIL (T BT
. ‘ ‘o e iﬂlm - QbR 4 ( @ & % ) e , ; G, ARy ‘05)
e AL i ,j}% 4. 40z 5 g (;3% ogb s 1. 20 friends meet at a marriage recéption of their common fiend. Every one of 20 friends shook -
ey T ~2Lp 20 YA hands with each other enly once. Find th number of handshakes./ Vingt amis se sont retrouvés
1A - B - 1 & un mariaga of chacun d'eux a tendu'fa maih 3 F'autre. Combien de mai-s ont été
i ; tendues 7 7 : l
(a) 4GO (0) 380 (€) 40 - (d) 190 (e) 120 !
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2. A certain numbér of horses and an equal number of men are going somawhere. Half of the

If the number of legs walking on the ground is 70, how many horses are there? /Un nom

L]
3 v

!

i ‘ i ini Iki leading thejr horses, : . Sy weww gpes Bl SEGOC
e e i o o o CTaATEking Gijes 2 Wiy clovg lnsch . em-toug %COHCOUFS-bElfin many numiers amongst the nurribers 9 to 54 are there which are exactly divisible by 9 but

de chavaux et d’hommes vont dans le méme sens. La moitiz de ces hommes sont Sur fouirs
chevaux pendant que les autres sont & pied. S'il y a.70 pieds qui vont dans le mére sans.
combien de chavaux s’y trouvent ? : : 3 :

{a) 10 (b) 12 {c) 14

(d) 16 (€) 18 - il b
13. A father tells his son, “I was of your present age when you were born.” If the father is now 36

years of age, how old was the boy 5 years ago? Siun pére dit a son fils “J'avais ton dge
présentement lersque tu étais né”, Quel était 'dge de 'enfantil vy a cing ans si fe pére 3\3__6,

ans actuellement?  (a) 13 (b) 15 (c} 17 {d) 20 (e) 21 s
14. 1ff Si 68 = 43; 2046 = 3201; 688 = 443, then/alors 20085

(a)4002 :  (b) 1004 “(c) 4001 (d) 4020 _  e)4004

15. In the following number sequence, how many such even numbers-are there which are exastly
divisibie by its immediate precading number but not exactly divisible by its immediate following
number?
Dans la séquence de chiffres suivants, il y a des chiffres pairs divisibles effectivernent gar
le chiffre qui le précédé et non pas par celui qui Iz suit. Combien sont il(s) ?
38415728348939421582 :

-{(a) One /Un (b) Twordeux (c) Three /! trois d) Four /quatre

16. Santa is at 27th posiiion from the top ina class of 43 students. What Is Fer rank frorm the sther
side? .
Santa est fa 27éme dans une classe de 43 étudiants. Queile est sz Lositivn

dernier? ' i
(2) 18"/ 16'™ (b) 17" /117" (c) 18" 115"™ (q) 21% /27*" '

Tt

i partir du

17. Mchamadou finds that he is twelfth from the right in a ling of boys and fourth from the left, how

many boys should be added to the line such that there are 35 boys in the line?

Si Mahamadou est le douziéme & partir de la droite d'une ligne des gargons et le quatriéme

a partir de Ia gauche, combien de gargons faur-i{s ajouter pour ramener I;e .?gmb:je Vt:’u,_f_af a

35 ¥R RREN ST
. . SRl

(a) 19 ey sl T st ag e

{b) 13 (c) 14 (d) 20

e

18. Arrange the given words in alphabetical order and tick the one that comes in the middie. /
Arranger en ordre alphabétique les mals suivants et choisir celui qui esi au miiieu?
.{2) Restrict  (b) Rocket”  (c) Robber  (d) Radom (e) Restaurant

N
16. Select the combination of numbers so that letters arranged accordingly will form a meaningful
word. / Choisir 'arrangement des chiffres qui correspondent & un mot utilissant fa clé ci-dessous?
RACETY
12345
(a}1.2.3,4.5 M) 3,2 1,4,5 (€)5,2,3 4,1 (d)5,1,2,3, 4
20. Solange introduces Marlin as the son of the only brother of her father's wife. How is Martin
related to Solange? /
Si Solange présente Martin comme le fils d'unique frére de la femre de son pére, quelle est
fa rélation entre les deux?
(@) CoLsin/Cousin e
(d) Son-in-law/Beau fifs

(b) Son/fils
(e) Brother lfrare

(c) Uncle/Oncle

I‘j;
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“(lii) Blue is adjacent to white

- (a) White /Blanche  (b)Red IRouge

not by 37 / o
Entre 9 et 54 combiens des chiffres sont exactement divisibles par 9 et non pas par 3?7
(a) 8 b) & (c)5 (d)3 & (e) Nil faucun £

Directions {Questions 22 - 25):

In a school, there were five teachers. A and B wers teaching German and English, C and B were
teaching English and Geography. D and A were teaching Mathematics and German. E and 8 were
tedching History and French. g § 4 ) :
Il y avait cing enseignants dans une Ecole. A ef B enseignaient lalfemand et.anglais, CetB
enseignaient I'anglais et la géographie. D et 4 enseignaient la mathématique et 'allemand,
£ et B enseignaiént 'histoire et le frangais. ; ¥ : 5 on 5 o

.

22. Who among the teachers were teaching maximum number of subjects?
Lequel des enseignants enseignait le plus grand nombres de matidres ?
a)A (b)) B c)C (d)yD (e) E

23. Which of the following pairs was teaching both Geography and German?
Lequel des pairs suivants enseignaient 2 la fois [a géographie et I'allemand ? g
(a)A, B (b) B, C ©)J,A (d)D, B (&) None of these/ Avcun.

24. More than two teachers were teaching which subject?

Laquelle des Patiéres était enseignée par plus de deux enseignanits?
{a) History/histoire +/(b) German/Ailemand (¢) French/Frangais

d) Geography/Géographie (e) Mathematics/Mathématigue .

25, Mere than two teachers were teaching which subject? : *
Laquelle des matiéres était enseignée par plus de deux enseignants?
() History/histoire {b) German/Allemand (c) FrenchiFrangais

d) Geography/Géagraphie (e) Mathematics/Mathématique

Questions 26 {0 28: Yoid ;

Six faces of a cube are coloured black, brown, green, rad, white and blue, such that
(i) Red is opposite black (iiy Green is between red and black,

(iv) Brown is adjacent to blue

(v) Red is st the bottom. i

Les six faces d'un cube sont colorées en noir, marron, ver, rouge, blanc et bleu

Answer the guestions based on this infermation./ Utiliser ces informations pour répondre aux
questions suivantes : ’

26. Which colour is gpposite brown? / Laquelle des couleurs se trouve a I'opposé de Ja couleur .
marron? e :
(c) Green/Verte (d) Blue /Bfeu (e) Black /Noire
27. The four colours adjacent to one anuthar are

Quelles sont les couleurs quf Se trauvent adfacentes & chacune d'elle?
(a} Black, Blue, Brown, Red / Noire, bleu, marronne, rouge
(b) Black, Blue, Brown, White / Naire, biey, miarronne, bfanche
fc) Black, Biue, Red, White / Naire, blew, rouge, hianche
{d) Black. Brown, Red, White/ Noire, marronne, rouge, blanche .
{e) Blue, Brown, Red, White / Bley, marronne, rouge, blanche \



28. Which colour, of the following can be deduced fom (i) and (v)?

" ‘Laguelle des couleurs suivantes pourrait étre déduit & partir des informations en W red ; e g e ': i : - %
“{a) Black is on the top / La coufeur noire est au dessus . _ WWW.'[OUSI €sC 0ONCOUrS3dEehe giris are sitting in a row. Anita is sitting fourteenth from the left and Rekha is seventh

(b) Blue is on the top / La couleur bleu est au dessus .
(c) Brown is on the top / La couleur marronne est au dessus
(d) Red is on the top / La couleur rouge est ay dessus

(e) White is on the top / La couleur blanche est au dessus ¢

CF

29. In a certain ;:ode “MADRAS" is coded as “NBESBT". How is BOMBA\’ coded in that code? Si
dans un code “MADRAS" est représentd par "NBESBT” BOMBAY sera représenté par
(a) CPNCBX i(b) CPNCBA(c) CPOCBZ  (d) CQOCBZ . (e) CNPCBX

Directions (Q. 30 - 31): Choisiri . 3 .
In each of the following questions various terms of a letter series are givén with one term missing
as shown by (?) choose the missing term out of the given alternatives.
" Pour les Guestions 30 et 31, identifier la ou fes lettres. représentée(s) par le signe « ? »,

ik : [
- 30.AZ, XB,CV;TD, ? . - T T, ,’ P J g
" {a)PD /(b)) ER’ (c)RE (d0OQ * (e)QoO

31.U,01,7,A - :(a)E'(b}C.A('c)SH (.d)G (e) F

32, If = means +, + means ?, + means -, ? means +, then which of the following
equations is correct?

Si - signifie +, + signifie ?, + signifie -, ? signifie +, alors laquelle des équations
suivantes est correcte? .
(a)52+4+528-2=36
(c)3674-12+5+3=420

(5)43?7+5+4-8=25
(d)36-1226+3+4=a0

33, 1(Si))973=36; : .-
11 77 = 81, then what is the value of (quelle est [a valeur de) 57137
{a) 65 (b) 66 ‘ (c) 81 (d) 51 (e) 72

34.1(Si) 7*3=52,9"5=86,3"4=13, then (alors) 57 =2
(a) 30 (b) 32, - (c) 40 (d) 57 (e) 42

35.1{(Si) 3+5= 16,7 + 9,= 64, 10 412 = 121, then (alors) - e

i (2)25), ()21 |, '(e)28 (d) 42 (e) 24 1wE Sy

*+ 37. How many numbers from 1 to 100 are there such that these are not only éxa_crly divisible by 4
but also have 4 as a digit?
Combien de chiffres entre 1 et 100 ne sont non seulement exactement divisiblos par quatre
mais comportent aussi le chiffre 4 7 2 T

(@7 ()10 (c) 20 (d) 21 ()33 - S

38. Rose is 7 ranks ahead of Sule in a class of 39. If Sule's rank is seventeenth from the last, what
is Rose's rank from the start?

Rose occupe [é septidme rang devant Souley dans une classe de 39 éléves. Sile rang de
Souley est le dix septiéme 3 partir du dernier, quef est'fe rang de Rose en commencant par
le premier de ia classe ? . :

(a) 14P/14°™ (b) 15"/45°me

) 147/14° (c) I6thageme < -
(d 1775, (e) 18th/18°™ -

" "gauche. Combien des élaves au total sont-ifs dans ce rangé ? J o)
i(a) 19 ()31 (c) 33Y{d) Can't be found (aucune réponse)  (e) 29..
i £ : . FEt s % e E 3Ty ey

Wirections: In each of the following questions; choose the missing term out of the giw’en

; s -o_"'\_.
. ‘ P s ¥,
y
1

from the right. if there are four girls between Anita anct Rekha, how meny girls are there in the row?

position en commengant par {a gauche tandis que Rekha occupé Ia septisme place en
commencant par la dreite. S'il y a quatre filles entre Anita et Rekka, combien de filles au
fotal sont assises sur le banc ? .

(@ 28%. . (0)23 {c) 21 (d) 19 (e). 17

40. In a row of students, Dipanda is seventh from the left and Mchammadou is twelfth from the

right. If they interchange their positions, Dipanda becomes twenty-second from the left. How many
students are there in the row? ‘ -

Dans une rangé des éléves, Dipanda occupe Ia septiéme position en commengant par fa
gauche tandis que Mohammadou occupe la douziéme place en coemmengant par Ia droite,
Siles deux s’échangent de places Dipanda devient e vingt deuxiéme en commencant para ..

T A TR

Ja

Koo w0 AN

alternatives. Referepce:
Completer les series suivantes:

s LR

A2 KN R

(a) O, K (b N, M (©)K 8 (dy M, N {e) P, N,

42, AZ,CX, FU, ..... i

(a) 'R (b) IV (c)JQ (d) KP (e) none of these (aucune réponsej

43.JE,LH, OL, 8Q, ...
(a) W/ (b) WX (c) VW (d) VX (&) XW

44, YEB, WFD, UHG, Sl sl =
+(3) Q0L  (brQGL (eyTOL . (d)QNL (e) none of these (aucune réponse)

5

45, 3. 6G, 111, 1oL, ..... L :
(a)210 (b) 25N (c) 27P () 27Q (8) 29P

46.11(S()3 + 9 =31: 15+ 12= 45, 18 + 9 = 36, then (alors) 12 + 27 = »
(a) 94 (b) 14 (c) 49 (€) 53 () 72

AT WS 2123 = 81,322 = 278,27 5= 8125, then (alors) 123 =2
(3) 127 (b) 271 (c) 126(d) 129(e) 132

48. If (Si) 213 = 4197322 = 924; 415 = 16125, then (alors) 215 = 7
(a) 425(b) 1625 (c) 4125 (d) 2541 (e) 5214

49.U(S)2+3=893+4=2716;4+3=6+9 then (alors) 1+2=7
(a) 21 (b) 42 (c) 14 () 81 (e) 41

50, If (S) 24+ 5 =28; 15 + 42 = 24, 84 + 57 = 48, then (alors) 69 + 37 =72
i (a)62 (0) 56 fc) 38 (d) 50 (e) 106

51. Trouver le met manquant/ Determine the missing word
Jury =22 Examen = 33 ; Epreuves = 44 7 =55

% -

5 He ] L



A, Affectation .,

B Controleur C. Admission D. Nomination

52. Compléter fa série suivante / Complete the following series
1827641252167 A 433 B.343 C.233 D.333 s
; e
53. Compléter la série suivante / Complete the following series %
XTXEXGXKXMX .. AP B.Q C.R DS i ; /

55. Remplacer le point d'interrogation par le bon nombre/

What does the question sign represent in the following series 7

Chateau (castle)= 1204000 ; Oiseau (bird) = 00300 Voxture (veh:c!e) = 10040860 ;
Vol (flight) = 103 ; Etagére (shelf)=7? 7 '

A. 1200460 B. 2140600 C. 0204080 D. 14:20{}0

56 Pierre marche a la vitesse constante de & km/h. Quelle distance aura-t-il parcouru

aprés'5 heures et 10 minutes ? If Plerre walks at.a constant speed of § km/h what distance
will he cover after five hours ten minutes 7

A, 16000m B.27000m €.31000m D.35000m

57. Alain, Bernard, Claude et Pierre comparent le nombre de dossiers cont ils ent la charge.
Alain en a plus que Bernard et Pierre, Claude en a plus que Pierre, Bernard moins que.

Pierre et Alain moins qJe Claude. Sion classe dans |'ordre croissant les personnes
précécentes en fonction du nombre de dossiers dont ils ont la charge, on obtient: .

Alain, Bernard, Claude and Pierre each has a certain number of dossiers to treat. If Alain
has more dossiers than Bernard and Pierre, Claude more dossiers than Pierre, Bernard

. more dossiers than Fierre and Allain more dossiers than Claude, which of the following, in

increasing order of cossiers to be treated is correct?
A. Alain — Bernard — Claude — Pierre B. Claude ~ Alairr— Pierre — Bernard
C. Bernard - Alain — Pierre — Claude D. Bernard — Pierre - Alpin ~ Claude -

58. Dans plusieurs études scientifiques, on a trouve une corrélation inverse entre

intelligence et age. Cette découverte contredit I'argument qui dit que la sagesse est

le résultat ......... 2t ¢'est pourquoi elle n'est pas la propriété ..

In a number of scientific studies, an inverse relationship has been observed between
intelligence and age. This observation /s contrary to the argument that wisdom is . esult
oF ..... which is the reason why it is not common among ......

A d'une souplesse intellectuelle / des jeunes (inteifectual

B d'une intelligence vive / des personnes dgces

C. d'une accumulation des connaissances / des personnes dgées

D. d'une expérience de vie / des enfants

59. André et Frangois ont chacun trois cartes visibles devant eux, André a les numéros 2, 4,6 sur
les siennes et Frangois les numéros 1, 3, 5. lis placent leurs cartes chazun a leur

tour sur l'une des six cases: André joue en premier. Son objectif est que le nombre de

six chiffres abtenu sct le plus petit possibie et I'objectif de Frangois est d'obtenir le

plus grand possible. Chacun joue de son migux. A quel nombre vont-ils aboutir?

Andre and Francois each has three cards before them. Andre has cards bearing the
numbers 2,4, 6 while those of Frangois carry the numbers 1, 3, 5. They each place in turn on
card at a time to occupy six rectangles drawn out on the takble. Andre plays first with the
objective of obtaining the smallest number of six figures at the end while that of Francois is
to obtain the !arge st number of six figures at the end. At the end of the game what will be
the number given by the cards placed on the table.

A 654 321 B. 254 361 C. 253 146 D. 253 416

P g

- to 1000 ?

60. La populatnon d'une ruche, a la suite d'une gra-vg épidémie, a diminué I'an dermer
de 20 %. De quel pourcentage la populabon doit-elle, cette année, augmenter pour

3 WWW tOUSI esconcours.iff@ver les sffectifs de I'an demier ?

Following aint epidemic, the population of a bee hive was observed to have fallen by 20%. By
how much must the population of this same hive increase so as to attain the pogulation
size before s epidemic?
A 15% B.20% C.25% D. 120 %
81. Sachant que Marie a les 5/9 de 'age de Pierre, que Paul a les 4/27 de lage de |
Pierre, que Jacques a 4,5 fois I'age de Paul et que Patrick a la moitié de 'age de
Jacgues, que Hervé a 9 ans, six fols moins que Jacques, guel est 'age de Marie ?
Given that Marie's age Is 5/9 that of Pierre, that Paul’s is 4/27th that of Pierre, that Jacques’
is 4.5 times that of Paul and that Patrick’s age is half of that of Jacques and also that Hervé
who is 8 is nine.times less the age of Jacques, what is the age of Marie? | v Fora @ 4
A. 30 B.45% C.48 D. 54 iy
62. Si la voiture d'Anne Sophie a été construite aprés 1995, elle posséde un systéeme ABS, /If
Sophie's vehicle was constructed after 1995, it certainly has an ABS system.
D'aprés laquelle des généralisations suivantes est-il. possible d’arriver a cette conclusicn.
Which of the following general statements could be used to lead to this conclusion ?
A. Il ne peut y avair de systéme ABS que dans les vaitures construites apres 1995,

.. ABS systems can only be found in vehicles constructed after 1935

’B. Dans toutes les voitures construites aprés 1995, it y a un systéme ABS.

“ABS are found in all vehicles canstructed after 1995
C. Tous les systémes ABS se trouvent dans des voitures construites aprés 1995,
ABS systems are found in vehicles constructed after 1395
D. Aucune voiture construite avant 1995 ne posséde de systéme ABS.
No vehicie constructed before 1995 has an ABS system.

" 83. On mélange deux jus de fruit. Le premier, dont on a deux litres contient 10% de sucre. Le

deuxiéme, dont on a trois litres, contient 15% de sucre. Quel est le pourcentage de sucre dans les
cing litres de jus de fruit obtenus aprés le mélange ?
Two types of fruit juice are mixed. The first with a volume of two litres contained 1 0% sugar
while the szcand with a volume of three litres contained 15%. What is the percentage of
sugar in the mixture?
A. 25% B.5% C.13% D.125% £, 12 %
84. L'angle forme par les argunﬁes d'une horlage qui indique 9 n 2C est ;

What is the angie between tie two hands of a clock reading 9h 20 ?

A, 140° B. 150° C. 160“ D. 185° E.155°

65. Si on écrit la suite de tous Ies entIers de 1 4 1000, combien de fois sera utilisé le chiffre 47 /
Hew many times will one write the number 4 if he were to write down aH the numbers from 1
A 300 B 124 C. 200 D. 100 E. 245

S &y e ‘
£6. Pour se peser, trois personnes ont a leur disposition une balance defauilante qui
indique toujours des nombres supérieurs a 100 kg. Les personnes se pesent donc
deux par deux et les résultats sont les suivants : Serge et Béatrice | 124 kg ; Béatrice
et Rémi : 139 kg ; Serge et Rémi: 155 kg. Combien pése Serge ? F
In order to weigh themselves, three persons have at their disposal a faulty weighing
balance that reads only above tha 100 kg mark. If the weigh themselves in pairs as follows:
Serge and Beatrice : 124 ikg; Beatrice and Renii: 139 kg; Serge and Remi : 155 kg, What is
the weight of Serge?
A. 64 kg B.70kg D. 75kg

C. 80kg E.B0kg
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&7 %au tetal 57 euros. Combien a-t-elle acheté de CD 7 /

<77 Betty bought CDs at 15 euros and magazines at 9 euros each. If she spent on the whole 57

“A {5-2)

" 70. J'ai trois fois ['Age que tu avais il y a trois ans, et deux fois I'dge que tu auras dans ; :
" deux ans. Quel est mon age 7/ If my present age is thrice the age you had three yearg‘(‘\ago (¢ l\\'
AN

# i L T Y - 5

67. Valérie a maintenant douze ans de moins quEstelle, Si dans neur ans, Estelle sawww_toua eﬁébncourg |

delix fois plus agée que Valérie, quel Age aura Valérie dans quatre ans ? :
Valerie is presently 12 years younger than Estelle, If given that Estelie’s age will be twice
that of Valerie in nine years time, h,ov_z old would be.Valerie in four years time?

A. 5 ans (years) B. T'ans{yearé} C. 15 ans(years) D. 21 ans{years)

88. Dans un immeuble de 6 étages numérotés de 1 & 6, il y a 8 personnes qui y

habitent, une par étage. Ces persennes ont pour prénom : Antoine, Estelie, Franck,

Pauline, Serge et Rémi. Le nombre d'étages qui separent 'appartement dé Franck

de celui d'Estelle est.égal au nombre d'étagesl‘qui séparent 'appartement d'Estelle

a celui d’Antoine. L'appartément de Rémi se trouve aun.étage plus élevé que calui

de Pauline. Antoine habite 4 I'étage 5 et Franck a rétage 1. .

Six paople live (one per floor) in a six storey buflding. The tames of these people are
Antoine, Estelle, Franck, Pauline, Serge et Rémi. The number of floors between Frank and
Estelle is the same as those separating Estelle and Pauline, Antoine lives on the fifth floor
while Franck is on the first. :

Parmi Iés_' pﬁ’rases suivantes laquelle est nécessairement vraie ?Which of the following

- statement is necessarily correct ?

A. Anteine habite au dessus de Rémi fAntoine fives on the floor above Re'mi_

. B. Serge habite a un &tage supérieur au 2e étage / Serge lives above the second flaor

C. Pauline habite & un étage supérieur au 2e étage / Pauline lives above the second floor
Rémi habite & un étage supérieur au 3e etage / Remi lives above the third floor ,
. Aucune réponse juste / None of the above is correct

o
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69. Completer la série : / Complete the following sen’gs Fak e 1 )
FEMME (1-2) TUTU (0 - 2) DANSE (5 - 0) BELLE (2~ 2) oo s
B.(3=2) C.(3-5) O.{1=2}" oo ‘¢
\-4-\

and twice the age yqu would in two years time, how old qnﬁ!? B ) LA k) 3 e
2 / . W i e e R vt T
A 42 B.39 'f: 39 \/D. 13 _ koo e o - ‘;‘i\,g,&-.—. ,\3 ) O

71. Monsieur Musa vécut.un tiers de sa vie 3 Yacunde, puis pariit vivre la moitié d’é’}sén"’
existence 3 Douala, puis vécut encore 14 années 3 Bafoussam. Combien de temps
cet homme a-t-il vécu 7 2
Mr Musa lived a third of his live in Yaounde and then lived half of his live in Douala and then
14 years of his live in Bafoussam. How long did Musa live Tkl .

A. 80 ans/years B. 76 ans/years C. 100 ans/years D. 84 ans/years. e -
: oAy

72. Betty a acheté des CD a 15'euros et des bandes dessinées a 9 aurg . Elle d dépense

euros, how many CDs did'she buy? ~ A 1(8.2C.30. 4.

73. 50 % de mes amis chantent faux, mais 50 % de mes amis qui chantent juste ne

jouent pas de guitare. Quel pourcentage de mes amis représentent ceux quiala

fois chantent juste et jouent de la guitar 2/

0% of my friends do not sing but 60% of those who sing do not know how to play the
guitar. What percentage of my friends singand play the guitar?

A.40% B 10% C.25% \D‘ 20% ) Al
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eycliste fait 10 tours de piste. 1l parcourt les 5 premiers 2 la vitesse constante
mth puis les 5 derniers A la vitesse constante de 20 km/h. Quelle a été sz
vitesse moyenne sur les 10 tours ?

if a cyclist rides ten times round a track at a constant speedof 30 kmih for the first five
rounds and at a constant speed of 20 km/h for the rest of the rounds, what s his average

speed during the ten rounds?

A. 25 km/h B.26km/h  C.24km/h  D.23.5km/h
75. On compare sur deux ans deux actions cotées en bourse.
During the course of two years, two shares on the stock market varied as follows
En 2003 I'action n° 1 augmente de 70 % alors que l'action n° 2 baisse de 20 %.

In 2003, share n° 1 increased by 70% while share n° 2 fell by 20% ¢ < ¢ £
En 2004, 'action n® 1 baisse de 40 %. alors que 'action n° 2 augmente ce 50 %, C

In 2004, share n° 1 fell by 40% while share n° 2 increased by 50% !y i B
Sur czs deux années (In the course of the two years): - - -8 R

~ArlLes deux actions ont vaissé / the value of the two shares fell

-B. L'évolution est la méme pour les deux actions / b Sy 2
The two years experienced the same changes - ', % ol i

C. La valeur de I'action n® 1 a plus augmenté que celle d& I'astion n° 2 ol |

-~ Tke value of share n° 1 increased more than that of sharen®2 77 o R
'D. La valeur de I'action n° 2 a plus augmenté que celle de I'action n® 1 TR

= The value of sh;arg 21°2 increased more than that of sharen° 1
e LI T i S e R . S AP s
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76. Dang ma ciassé, 2 éléves sur cing sont des filles, et 3 éléves sur 10 cnt les yeux °

:

7

bleus dont un tiers sont des gargons. Quel pourcentage de I'effectif de |a classa #31

representent les filles aux yeux bleus ? )

W ‘ :
r g ~ 'ﬂ'[‘, LI .
= L v
Vore

Two students out of every five in my class are girls while three out of every ten fiave biive
eyes with a third of these being boys. What percentage of the students in my class are girls

with blue eyes? A 10% B.40% C.15% . 'D.20%

77 Au pays imaginaire de Léa, il y a des guilitosaures possédant deux mains 4 sept doigts,
calinosaures possédant trois mains 4 cing doigts. Ces animaux cohabitent dans de grands

et des

troupeaux qui se déplacent dans l1a plaine. Dans un de ces troupeaux, on dénombre 309 doigts.

Combien y a-t-il de Guilitaosaures dans ce troupeau? -

In a given imaginary country called Lea, there lives guilitosaures each having two hands -
and'saven fingers and also calinosaures each having three hands and five fingers. These

- animzls cohabit in flocks. If in one of these flocks onecounts 301 firgers, how'many
Guilitosaures are there in the flack? 5

A1l B 15 C.10 D.25 E. 16

78. Ure mére aeu son premier enfant 3 I'age d2 26 ans, puis le deuxizme 3 I'a4ge de 29 ans, enfin
le dernier a ['4ge de 32 aps. L'ainé avait 4 la naissance du troisiéme le deuble de I'4ge du second.

Aujourd'hui, cette femme a 35 ans. Quel est I'dge de son ainé?

A certain mother had her first son at the age of 26 and the second af the age of 29 and the
last at the age of 32. Thafirst child was twice the age of the second when the third was

born. If this mother is 35 years old today, how old is the first child?
A0 B.8 \Cro._ D.6 E. 12

79. Si "on augmente la longueur du ¢été de ce carré de 7 cm, sa surface augmente de 217
Quelle est la fongueur du coté de ce carré ?

If the length of a square is jncreased by 7 em its surface area becomas 217 cm2. Wha
length of this square A4 B3 'C.12° D6 E.8

A

g

cma2,

t is the



. ) - - 89. How is F related 1o A? /Qu'elle est I3 relation entre F et A?
80. Un café, un demi et une limonade coltent 8 aures, un café et un demi codtent 5,5 eurps, un ‘

H > ister-in-law /Belle soeur C) Sister / Sceur
demi et une limonade coltent 6,5 euras. Quel est le prix d'un dem 7 wWww.tousl esconcours.i rﬁmg{gﬁ;{iﬁf;\i; Benﬁﬁi (E) Father / Pére .
One cup of coffee, half a cup of coffee and one limonade cost 8 euros; One cup of coffee
and half a cup of coffee cost 5.5 euros; half a cup coffee and a cup of lemonade cost 6.5 o 90. How is F related to C? / Qu'elle est la refation entre F etC? &
euros. What is the cost of half a cup of coffee?" : (A) Mother-in-law/ Belle mére (B) Sister-in-law /Belle sceur C} Mother / Mére
A. 3 euros ‘B4 euros C. 2,5 euros D.6euros E.5euros ' (D) Aunts / Tante (E) Father / Pére -
81. Atangana ranks sixteenth from the top and forty ninth from the bottom in 2n examination. Nine 91, How is E related to C? /Qu'elle est |a relation entre E et C? L
students did not apoear in the examination. ow many students were there in a class? . {A) Sister/ Sceur {B) Aunt/Tante (C) Mother/tMére {Dj Daughter /Filte 21
Atangana est seiziéme par ordre de mérite et quarante neuviéme en commengarnt par le ) - #/{E) Father/Pére ac LB N AR . T
dernier au cours d’un examen, Combien des étudiants étaient présents pour 'examen si = Ty LR T v ,_ﬁzr‘?-ﬂ‘l,m PO 4 T WAL o
neuf sur le fotal inscrit étaient absents, 3 , ' ' Directions—(Q, 92—93) = e A f,‘fi,’_* sl
(a) 73 (b) 74 )75 . (@) Can't bé found {aucune réponse)  (e) 24 - Study the information given below and answer the questions. Répondre aux question¥’s3 6t 93
, ) ' ' 1 en utilisant les informations ci-dessous. ;
82. If the third date of a month is Sunday, what date will be three days after the fourth hed On a playground Dongmo, Kamga, Narsury, Ali and Panyo are standing as described below facing
Wednesday in the month? : ' the North. '
Si la troisiéme jour du mois est un Dimanche, quelle serala date trois Jour aprés le I Sur un terrain de jeux, Dongmo, Kamga, Narsuru, Alf et Panyo sant placés en regardant le
quatriéme mercredi dudit mois. - nord comme décrit ci-dessous. : .
(a) 24 . (e 29 {b) 27 (d) 30 (e) 22 (i) Kamga is 40 m to the right of Alif Kamga est & 40 m a droit d'Ali
: : (ii) Dongmo is 60 m South of Kamgal Dongmo est 3 0 m au sud de Kamga
83. 1 (S)5x4=157x8 =49 and /et 6 x 5 = 24 what will (alors) 8 x 4'be (egal)? (ili) Narsuru is 25 m West of Ali INarsuru est 3 25 m a 'ouest d'Ali
(a)24 (b} o4 (c) 28 (d) 36 (e) 22 ¢ (iv) Panyo is 80 m to the North of Dongmo / Panyo est 4 90 m au nord de Dongmo
{Q84-88) 92. Who'is to the North-East of the person who is tp the left of Kamga? /
A cube is coloured red on all faces. It is cut into 54 smaller cubes of aqual size. Answer the Qui est au nord-ouest de (a personne qui est & la gauche de Kamga? .
following questions. ‘ : 3 i (A} Dongmo  (B) Narsuru (C) Ali (D) None of these (aucune réponse)  (E) Panyo
Toute la surface d’un cube est colorée en rouge. Il est divisé en 64 petits cubes de méme §
taille. Répondre aux questions suivantes ) L 93. if a boy walks from Narsuru, meets Ali, then meets Kamga, then meets Dongmo and then
= - meets Panyo. How many meters has he walked if he traveled the straight direction ali through?
84. How many cubes have no face coloured? / Combien des cubes ne sont pas colorés Siun gargon va vers Narsuru, rencontre Alj, puis Kamga, puis Dongmo et enfin Panyo,
(a)24 = (p) 1€ . (c)8 (d) 4 ()7 Quelle distance aura-t-il parcourue s'il marche en ligne droite vers chacun,

") 155m  (B) 185m (C)215m (D)245m  (E)235m
€8. How many cubes are there which have only one face painted?

Combien des cubes n'ont qu'une seule face colorée? o 94. In a code language SINGER is written as AIBCED then GINGER will be written in the same code as—
(a)4 - ()5 (c) 8 (d) 18 (e)7 i Sile mot SINGER est écrit dans un langage AIBCED alors GINGER sera écrit dans le méme langage
comme ; . . i i
87. How many cubes have two red faces on opposite sides? ; {A) CBIECD (B)iCIBCED (C) CBICED (D) CIBECD
Combien des cubes ont deux faces opposées colorées? : ;
(a)0 (b) 8 {c) 186 (d) 24 (e)7 e 95. Which one date is wrong assuming the other three are right?
Laqguelle des dates est fausse en s'assurant que les trois autres sont justes?
88. How many cubes have three faces coloured? A : (A) Saturday: 7 January, 1965/ Samedi: 7 janvier, 1965
Combien des cubes ont trois faces colorées? o (B) Saturday: 11 February, 1965/ Samedi: 11 fevrier, 1965
(a) 24 (b) 16 (c) 12 (d)8 ©7 : 7 g’ (C).Saturday: 11 March, 1965/ Samedi: 11 mars, 1965
* s (D) Saturday: 14/April, 1965/ Samedi: 14 avril, 1965
Directions—{Q. 89-91) (s ; :
Study the following information and answer the questions: *  96. Ifwhite is called blug, blue is called red, red is called yellow, yellow is called green, green is
In a family there are six members—A, B, C, D, E, and F. A and B is a married couple, A being . called black, black is called violet, and violet is called orange. What would be the colour of human
the male member. D is the only son of C, who is the brother of A. £ is the sister of D. B is blood? /
the daughter-in-law of F, whose husband is dead. Sile blanc est appelé bleu, bleu est appelé rouge, rouge est appelé faune, jaune est appelé
Utiliser les informations suivantes pour répondre aux questions posées. Dans une famille, il y a six vert, vert est appelé noir, noir est appelé violet et vialet est appelé orange
membres —~ AB,C,1,E et F. A est le marie de B. D est I'unique fils de C qui est le frére de A, E est Que sera [a cauleur du sang humain ?
a soeur de D.'B estla belle fille de F dont le mar est décédé. (a) Red frouge (b) Green/vert (c) Yellow/jaune (d) Violet/violet (2) bluelbleu
i -
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- +87. Question figures

Answer flsures : i

@ m A W

Directions (Questions 98 - 100): Study the given infermation carefully and answer the questions

that follow/ Utiliser les informaticns Suivantes pour répondre aux questions ci-dessous:

(i) Six friends P, Q, R, S, T and U are members of the, club and play a different game of Football,
Cricket, Tennis, Basket ball, Badminton and Volley ball.

Six amis P, Q, R, S, T et U sont membres d'un club etjouent aux différentes disciplines
Suivants: football, cricket, tennis, basketball, badminton et Volley bal

(Vi) R plays Volley ball/ R Jjoue au volley
(vii) T is between Q who plays Foot ball and P'in order of height./
£n terme de taille, T est entre Q qui joue au foot ot P

98. Who among them is taller than R but shorter than P/
Qui parmi eux est plus.grand que R mais plus petit qué p
(a) Q
T
(2) Data inadequate (pas d'information) '
{d) None of these (aucune réponse)

99. Who will be at the third place if they are arranged in the descending order of their height?
Qui est 4 Ja trojsiéme position s'ils sont places en ordre décroissant de taille?
(@Q (b)P () @T

100. ‘Vho among them plays Basket bali? /

Qui parmi eux joue au basket?
(aQ () R (©) s @ u
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